MODULE 2- VERSION “D”
JSEA, HAZCOM, INCIDENT PREVENTION
SIGNS & TAGS, PPE & FALL PROTECTION

Do not write on this test question sheet. Circle the letter on the test answer that corresponds to the correct
answer. When test is complete, return this test and your answer sheet to your instructor to grade.

1. Which of the following is considered a good tie off point?
A. Hand railing
B. Anchor points
C. Process piping
D, Cable trays

2. The wording of signs and tags should:
A. Easyto read and concise
B. Make a positive suggestion
C. Contain sufficient information to be understood
D. All of the above

3. Aproperly fitted body harness must;
A. Be snug to the body
B. Only have room for two fingers between the leg & leg straps
C. BothA&B
D. None of the above

4. Global Harmonization System (GHS) is the new international approach to hazard
communication. It is the foundation for:
A. Safe use of chemicals
B. Risk Management systems
C. Hazard communication
D. All of the above

5. Hard hat liners are to be adjusted so there is a 1” gap between the liner and the hard

hat.
A. True
B. False

6. Good communication is critical to avoid accidents during simultaneous operations.
A. True
B. False

7. Chemical warning labels must be legible and:
A. Written in the language of origin
B. Written in English
C. Written in any common language
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8. While inspecting your fall protection, you should lock for all the following:
A. Wear and damage
B. Buckles working properly
C. Signs of a previous fall
D. All of the above

9. When working from heights, full body harnesses do all of the following EXCEPT:
A. Minimize injury
B. Keep you from falling
€. Maintain your body in a vertical position
D. Distributes the force of the fall

10. Fall Protection devices may be reused after a fall.
A. True
B. False

11. Barrier creams are considered adequate hand protection.
A. True
B. False

12. Which of the following is NOT a control measures?
A. Engineering controls
B. Administrative controls
C. Supervisor controls
D. PPE

13. GHS provides standardization through:
A. Detailed criteria for hazard determination
B. Standardized label elements
C. Harmonized SDS format
D. All of the above

14. There are two basic types of chemical hazards the regulation applies to:
A. Health and Physical
B. Mental and chemical
C. Psychological and Physical

15. 80% of all errors with fall protection systems involves the anchor point

A. True
B. False
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16. There are two main categories of respirators:
Air purifying & air filtering

Air supplied & self-contained

Air purifying, air filtering, & self-contained
Air supplied & air purifying

All of the above
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17. Hard hats are not to be modified in any manner.
A. True
B. False

18. What are the responsibilities of the employer to the employee regarding PPE?
A. Specify the appropriate PPE
B. Training on the PPE
C. Cleaning
D. AandBonly

19. What is the OSHA required height for fall protection in general industry?
A. 4feet
B. 6feet
C. Norequirement
D. None of the above

20. To avoid “caught by” hazards, employees should:
Cut their hair short

Tie up long hair and secure it under a hard hat
Never wear rings, watches, other jewelry
BothB& C

All of the above
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